
Parva probâtiô, caput XXIX Nômen____________________

Provide the indicated SUBJUNCTIVE forms:

present of sum, esse, 1  pers. sg.: __________st

present of possum, posse, 2  pers. sg.: __________nd

imperfect of sum, esse, 3  sg.: __________rd

imperfect of possum, posse, 1  pl.: __________st

imperfect of habeô, habçre, 2  pl., active: __________nd

imperfect of dûcô, dûcere, 3  pl., passive: __________rd

Trânsfer in Anglicam: Ita perturbâtus sum ut omnia timçrem.

_____________________________________________________________________________

In the above sentence, what type of clause is ut . . . timçrem? ___________________________

How do you know, i.e., what 3 words are the indicators? _______________________________

Praemium additum:  

Trânsfer in Anglicam et dîc genus clausulae subiûnctîvae: 

Latîna est tam facilis ut eam amem! 

_____________________________________________________________ Genus: _________

Latînam doceô ut discipulî meî sint sapientiôrçs.

_____________________________________________________________ Genus: _________


